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SECTION - A

(Multiple Choice Questions) (20x 1=

Which one of the following is a major henefit 1o an MNC when it works on
jount production with a local company 7

(A MNC shares it latest technology with the loeal company
(B) MNC decides all parameters and prices of the product.

(Y MNC shares its institutional pohiey with local company

(D) MNC bwilt good nnd familial relations with the loeal company

Which one of the following organization 1z providing data regarding
emplovment in Tndia ?

(A} National Stanstien] Office
(B) Niti Avop

(Y Nauonal Informaties Contre

(I Public Serviee Commission

Which of the followine countrees has the hawehest e Expoctaney” at the

bty 7

Ay Nepal (M Bongladesh

(0 e (I Pakcran

21
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4. Which of the following pair s correctly matched

Y Alluvial Smt Gungety Plaan

(BY Rlack Sl - Himnlavan Regon
Yy And Sail : Weatern Ghats
(D) Latente Soil ~ Desert Ares

o

In which of the following States Tungabhadra Dam i located
tA) Tamil Nadu

(B) ﬁmln

(") Andhra Pradesh

(D Karnatakns

6. ldentify the crop with the help of the bllowing information and choo the
correct option,

. This ix the second most important Coyenl Crop.

. Thas 1= a Rabr erop,

- It requires n eool growimg season nnd brght sanshine at the

time of ripening.

- It vogpires 50 to 70 cm annual reandnll

Options :

(A Wheat
By Moz
TSV NTET

A Suparcaoe

o
&
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Arrange the following in chronologmical order and choose the correct option -

I The Bretton Woods  conforence

Mﬂn'elar}' Fund.

extablished

the

Internationnl

The Sccond World War broke oul between the Axis nnd  Alhwed

il
Kroups.

11l A car manufacturer Henry Ford adopted the "Arsembly Line Method'
for production,

IV, The Western cconomivs orgamzed themrelves as o group - The
Group of 77"

Options :

Ay T11, H. T and TV
(@) LI I and IV
(Cy INVU L IT aand |

(I VT T and 1

Wheo of the fullowing set up the
India ?

{A) J.R.D. Tata

(B) Purushotam Pas

(Cy R.G. Sarmyi

(1)) Thakur Das

firat

lron

and

Steed

industey i

Which one of the following aspects wis common Fetween the writings of

B R Ambedkar and E V. Ramaswomy Nouweker !

Wrote on the caste systent in Indin

tA)

(1) Highlighted the expoerienees of women
f2aiced awnreness about cultaral hevitoeoe

(")
(L)

Viotrvated Indians for their notronal frecdonm,

oV
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11

172 11 P

allegory  of Germama with ats

Mateh  the following attmbutes of
sigmificance ond choose (he coprect opticn

Attributes Significance
“ HBroken Chains I Heroism
h Broast-Plate wath eagle 11 Readiness to fight
t Crown of oak leaves 111. Strength
d. Sword IV, Bemg free

Options :

2 by v d
() l 11 1] AN
(By IV I | i1
(Cy Il 1 AY 1l
(D) I v 11 1

Which one of the following mattors do NOT deal with the ‘Family Laws ?
{A) Marnage

(Bl Adoption

(C) Inheritance

(D) Finanee

Two statements are given below as Assertion (A) and Reason (R). Read

the statements and choose the appropriate option .
Assertion (A) : Women n different parts of the World organized

-

themselves and agitated for equal mights,
Women's movement mmed at equality i persenal and

Reason (R)
family hfe as well.

Options :
(A} Both (A) and (R) are true aned (R s the coarrect explanation of ()

iB)
() (A) is true, but (R) is false.

Both (A) and (R) are true, bul (RY 15 the not correct explanation of (A,

(D) (A is false, but () 18 true,

P.T
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13 Which une of the following 1s 1he most popular form of government mn the
contemporary world
tAY [Dhctatorial Chacrnment
By Consututional Monarchy
O Malitar Government

D Dem xcranic Government

14  Match Column - A with Column - B and chouse the correct option :

Column - A Column - B

tSubjects) (List/Subjects)
I Defence 1 Concurrent Last
11 Police 2. Union List

111. Marmage 3 State Last

IV Computer software 4 Residuary Subjects

Options :

[ i 1l v
A i i 1 -
BEE 3 : ; -
1C) ! 1 ' .
2] 2 1 1 i

3212 gﬂ



1 A e, iR (A) ol s (R e A ) et g s e
[ua @Yy -
sfrwwa (A) ¢ AW e ) e R
Wy (R) e ot vifard @ faear w1
e :
(A) (A) 30 (R 2w E ol (1), (A 9w men R
(BY 1) 3k (R 2T Al &, arg (R (V) o s s R
() (A) wE R, Af R e R
(D (R mer R, S L aE R

16, e weant T Prafafea weat w faan Sfa sl fawea @ s it
. ar EYedd & w2gE s b
11 e amrtEe qurl & o9 dud @) es s b
111 ae wroriifow g w) qfafvas san @
IV, ax zet & dra A - s wod s @
fawea :
cu oD
(By (1 Loy
(LI sty
THRR TR LAY

o mem
12/112 (1 R
— @ e



15, Two statements are given below as Assertion (A) and Reason (R). Read
the Statements and choose the correct option .
Assertion (A) : Elections are the spint of demoeracy

Reason (R): Elections expand Political partcipation.

Options :
(A) Both (A) and (R) nre true nnd (R) s the correct explanation of {A).

(B> Both (A) and (R) are true, but (R) 18 the not correct explanation of (A).

(C) (A)is true, but (R) is {alse.

(I3 (A) s false, but (R) is true,

16 Consider the following statements on Power Shanng and choose the

correct option |
1. It deepens democracy.

11 It helps to reduce conflicts among sooml groups
1. It 1s a way to ensure political stability

IV, It brings socio-ceomumie struggles

Options :

tAy 1 I and [

By 1T and IV

(' LI and IV

dny 1o and TV

—
s |

. O
IR Vi

|

NPT YR
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17. Whioh one of the following ix a formal source of credit ?
(A)  Relative
(BY Trader
(Y Money londer

(D) Cooperntive Society

18 Kanta works in an office. She gets her snlary regularly at the end of every
maonth In nddition to the salary, she also gets other benefits laid down by
the governmen

In which of the following sector Knnta 15 working ?
(A)  Organmsed Soctor

(I Unorgamsed Sector

(") Primary Sector

(1) Quaternary Sector

19, Assume there ave four families in a loeality. If the monthly incoms of ench
family s T 10,000, T 20,000, T 30000 and T 40,000 then what = the
average 1ncome of the loealty 7 Chovse the conrect option from the
followiny :

(tA) 25000
(B} 2 30,0060
()2 20000
(D) T 10000

20 Which one of the following pair s correctly matched

(A} Primary Seetor Fishermoen

(i Secopdarny Sectar - Pricst

(0 Tertinry Sector - Bosket Weaver
iy Clusternanm Sector : Chopidoney

320012 <TNT D>
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SECTION - B

T ————

(Very Short Answer Type Questions) (4%2=8)

21t Explam Romanticksm as a cultural movemeont in Eurape 2

OR

() Explaun Predene Sarmeu’s dream in the context of democratic and
~ucial republics in France during 1814 2

te
I~

Explian any two features of Pnmitive Subsistence firming. 1x2=12

23 AMention any two steps taken by Indian Government for the women
cipowerment. 2

24 Imuapgne that you are the village Head. Suggest any two activitie~ thit vou
think should be taken up to mncrease the income of the villagers

2
SECTION - C
(Short Answer Type Questions) (3x3=135)
25, How did the printing of visual matenal lead 1o publishing practices 1n
Japan ? Explan. 3
26, Explaim the importance of manufacturing induatpres 1x3=3
270 The queston of sustmnabibity of development varses many undamentally
new ssues ahout the nature and proces~ of development” Explan it with
examples '

327172 gﬁ PT.C
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Explain any three efforts done to reform

a)

ih)

{a)

(h)

fa)

b)

fox)

(h)

{3)

“h

e ———————

political parties in India. N

Explain any three functions of the Reserve Bank of India. 4

OR

Explain the role of banks with regard to money which they accept

friom the publc. 2
SECTION-D
(Long Answer Type Questions) (4 x5 = 20/
Analyvse the impheations of First World War on the cconomic and
Political situation of India, 3
OR
Analvse the role of folklore and symbuls 1n the revival of na twnalism
in India durnng late 1990 century. 5
“Pransport and Communication are complementary to each other.
Support the statement. 5
OR
Analvse the features of International trade of Inda 5
“There i an overwhbelming =upport for the piea of democracy all ever
the world. BSupport the stntement with exomples i
OR
“Democracy can address all socio-economic and polinieal problems
Support the statement with arguments, 5
5

How t- clobalization a multi-dimensional concept 7 Exploon,

OR

I PAEE L Tdif e nt rountres im i:in.ll'l_ilf;'['[‘,uu v

Plone 1~ Broduetien Qs

Explmn,
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SECTION - g

(Case Based Questiuns} (3 x4 = ]

Read the given extract and answer g]| qQUeRtions -

DECENTRALISATION ININDIA

When power 1s taken away from Central and State government~ und
given to local government, s called decentralizatyon, The basic 1den
hehind decentrahzation is that there ape A large number of problems and
=== which are best settled the local fevel, Peaple have better
knowledee of problems in their localities. They aleo have better wdeas on
where to ~pend money and how {0 manage things more cificient]y.
Besides, st the local level it is pos=ible for the people to directly
participate 1 decision mnking. This helps 1o nculeate o habi of
democratic participation. Loeal sovernment is the best wav 1o reali=e one

umportant principle of democracy, namely local self-givernment

The need for decentralisation was recognized in our Constitution.
Since then, there have heen several attempts to decentralize power to the

leve] of viilages aind towns. Panchavats in villngoes and mumaipalities 1n

urban areas were set up i oall the States, But these were directly under

the control of State Governments, Eloctions 1o these local governments

were not held rogulariyv.

341 Expluin Decentralization i democrney

(91.2)  Kxplain the importance of Local <¢If Goveroment in democracy,

LY Dieseribe any two o steps taken by Indinn governmens Fry

decentrabizarsm, 1 x 2=
4 - .)3 . Eé
- =t Eﬁ P.T.¢




A%

Ru my B W oy st 3o AR B sy W I e

it i Fovg AT
xo FitEs B @Y w0 ve after By e & dm B s e f fare e
sarst &1 wed 3f areha op 22 1 A S0 ) B aeer 23 & R wed e e
E2 R |mmwi&ﬁgﬁmﬁ!aﬂmﬁmﬁmmminm,qﬁmﬁ.
Afdn o, reltfraa & w2 @, #a TR EEE or gn & | iR s en st A
48 et 2 At v we R sienfeam 6 e B0 et 3 Tafe smardl @
e w1 =t ¥ 33N o e Fgvitens desty 1w 0 et fie Poad 2
g s & swafd 3 wna 1 aus a9 orF T A & w0 F S W SEE A
F | DA T U TE AT =T 4 @l @) @ 1 M A IeTE i g Al He Wi
o | Fwe A 91 e w wdiiE | v fed dee woER s 4 de
AqSrey foug e e A1 aledd w1 e whea | feed we w1 s 38 e e
(33.1) e g e gl e faanga e v e s
(35.2y  afaafes wea @ Aus Rl F arem R S s R a2

(35.3) aefirr 3 g fasmeEi & e 8 Re o wdet i saren $ifiw



Head the aiven case amd answer 1 he questions that follow 4
Market for Goods
e way n which  new CONEUIECTS  are  crented s through
advertisements. A< vou know. wdvertisements make products appear
desarable and necessary They try 1o shape the minds of people and ereate
new necds Today we bive o worlil whoere advertisements surround us.
They sppear 1 NUWSPAPCrs, mMaghzines, hanrdings. streot walls television
screens, But if wo look back mto history. we find that from the very
begmnimg of the mdustmal age, advertizements have plaved a part n
expanding the mnrkets for products, and 1n shaping a new consumer
culture When Manchester industiialist= bogan selhing cloth 1n lndia. they
put inbels on the cloth bundles, The label was necded (o moke the place of
manufncture and the name of the company Tnnhor (o the buver The

biabeel was olso to e o mark of gqualits . When bunvers =aw MADE [N

MANCHESTER wortton i bald on the label. they wer expected to foel

confident about hasoang the oloth

(55 1)y How wis the marketmg of poods done in india by the British & 1

(45 2r How were ahe new consumers created  throueh ady ort e ment
during colomal Tadea

oy Bdentily the messages convesed theough advertmsene dunng
fvbteatrralrzon aon.
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i, Read the given case and answer the questions that follow -

CONSERVATION OF ENERGY RESOURCES

Energy 15 o basic requirement for economic development . Bvery sector of
the national economy — agriculture, industey, transport, commereia) and
demestie — needs inputs of energy.'The cconomie development plans
implemented sinee independence necessarily required increasing amounts
of energy to remain npnratinnnl,\.-\ra a result. consumption of energy in all
forms has been steadily rising all over the country. In this background,
there 1= an urgent nced to develop a sustmnable path of energy
development. Promotion of enecrgy conservation and increased use of
renewable energy sources are the twin planks of sustainable energy. Indin
1= presently one of the least energy efficient countries in the world. We
have to adopt a cautious appronch for the judiclous use of our himited
energy resources. For example. as coneerned eitizens we can do our bt by
using public transport systems mmstead of mdividunl vehreles: switching
off clectricity when not In nse, usIng power-saving devices and wsing non-

conventwnal source= ol energy. At List “Energy Saved is energy produced”
(3G.1) Why is sustiumable enorpgy o key to sustmmnble development ™
(362 Whs s consumption of cnergy risig i all over Dod?

(36.7 Explam Fnergy saved s energy produecd”
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(b)

Two places (A) and (B) have I L

Map of India, Identifv them with the

(A} The place where the session of INC o

(B) The place where Mahatmy Cioned b broke Sal

{1)

SECTION -

{an Based (}th-at inn_q)

'nomarked on the o

VInear them
= held in Soptembery, 10020

al L] 'I\.

On the same outline Map of Indin lorat, and Lite! ny THREE

the following with supabl. svmbaols

Hirnkud Dam

(nr - Tarapur Atomic Power Station

T

(i21) Pune Software Technolooy Park

(v)  Paradip Sea Porr

Note

{2+ 3

1
-
A3

RIvVen outline politieal

N ! - ]“'|I| ”! RIViN I.Tllll.lil'!i'i-'l:lllii s
wrile thewr correct names on the hines drgs

b

The following questions are for Visually  Impaired

Candidates only in Licu of 3. No. 37, (5

Attempt any five questions |

(37.

'

1)

.2)
3)

-4)

—

ik

Name the place where the sess1on ol TNC was held o Seprombeer

1920.

Name the state wheree Gandiogn brohe Sabe Law

Niume the place where Sadal Bam s Tocated

Nume the state where Tarnpur Nuelear Phine o loeated

Name the state where Pume Soltw e Tochuology poack s Toeated

Name the state where "Paradip Sen Port s loeatea
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